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1 I=ZBEXTUTZIILBRASHERTS HaENKXKFRE/NIKA1 - - 18000 L/h Sh4. 3.1
2 |l EXRIIAFEE 2 — BhRTTH R B E7EH1168 7.1m 3333 kg/h H12.11.30
3 NS ] shaith/N& &) R EH54 16.8 m 2917 kg/h H1.11.6
4 8| BRI shEiTTH /N U5 )1 R 54 16.8 m 2917 kg/h H1.11.6
5 BBhAIRIREEEL 2 — Bl g v BT F 5 346-3 22.005 m 5125 kg/h H13.2. 21
6 BBhRIRIREEE 2 — 5\ 7 i BT FA £ 363 22.005 m 5125 kg/h H13.2. 21
7 S RO EIRERMEASREEEL 4 — ERthEa=FItEE470 - - 2083 kg/h H26. 4. 1
8 EAHMXERESMSREEEL 4 — ERmMnEFtEE40 - - 2083 kg/h H26. 4. 1
9 8|+F1H C A BHAIER + AR IEEFFREN-3 14.86 m 3125 kg/h H12.9.20
10 8|+F1H & A& R R +HEMEEFFTKRE-3 14.86 m 3125 kg/h H12.9.20
11 8| RESH+AAEILY—ERREFNLIS +HEHKXAFREIEF138-1 - - 400 kg/h H14.10.8
12 SlERILFHAESHERTIE =R =ZRERRTE - - 319 kg/h $51.8.10
13 SIERILFEHRARELHMZIRTIS =R = RFHRRE - - 2292 kg/h H29.9.1
14 8|=RmERt 42— = RM=RFFIHI101-1016 18.1m 2660 kg/h H12.9.1
15 8| = RmERtE 42— = RM=RFFIK101-1016 18.1m 2660 kg/h H12.9.1
16 8|I=Z RthERtE VS — =RHT=RFFIBEI101-1016 7.695 m 1083 kg/h R2.11.30
17 8|=ZRthERtE % — = RM=RFFIHI101-1016 7.695 m 1083 kg/h R2.11.30
18 S| ERSH = RiEIIREREHEE =R = RFEREL549 - - 888 kg/h H17.5.1
19 S| RRBEL 2 — =RHT=RFFEIBEI101-1016 5.85 m 700 keg/h $58.9. 1
20 8| ERESHIL— TR IBE X =RM=RFFIFI01-1366 fih 11.825 m 1875 kg/h H17.1.5
21 8| EREtt I — TR IE=E ErR =RM=RFFIF101-394 4h — - 2083. 333 kg/h R3.10. 1
22 8Tt B — M EEYENEFERT VIR - T )—> [ OHERNFESR66-1 - - 2917 kg/h H13.7.2
23 8| Tt — i EEMENERZT VIR - )—> [OOHERRAFSR66-1 - - 2917 kg/h H13.7.2
24 8| (U #5) T b hisi 3 = A AR fE % TOMARXFERAFSRIS-1. 76-1. T7-1 13.115 m 1792 kg/h R3.9.1
25 8| (R #5) Fabithigh 3 & A& A fiE 5% COMAFERNFSRIS-1. 76-1, 77-1 13.115 m 1792 kg/h R3.9.1
26 Bl 2 A It Z— O OmERNF_XET. 18-1 - - 500 kg/h H5.7.30
27 SIS IFERREE D ShAEEER EIRD143-4 — - 638 kg/h H7.3.25
28 8|FER Yy ) — R — DM SHIRERTER A 111 19.1256 m 3125 kg/h H14.5.10
29 8|y ) — 2 — DM SHiRERTEREE11-1 19.125 m 3125 kg/h H14.5.10
30 B|AHEREKHASH FARTAFOLFKE1I1—-115 2 m 2500 kg/h H11.9.15
31 S| FNBTEEYMNE L EARTKFNMNEFHDR56—10 3.1 m 1560 kg/h H11.6.15
32 8|5} 4 BT O A AR R 2R s\ o ERTER/DER/NEL 17 0 6.93 m 667 kg/h H21.6.29
33 8|4\ 4T A AL TR i R sy ERTER/NER/NEL170 2.3 m 83. 4 kg/h H21.6. 29
34 8lTas )y —r 704 FHITRASE LMW FNN24 14.26 m 2750 kg/h H11.5.1
35 SIS A NS HELEH =) [REH3D 2. 14 m 1958 kg/h R5.3.15
36 8|hE LI ERE 2 — BALRTEZ {172 - - 1250 kg/h H11.5.15
37 8|hE L ERE 2 — RALRTFZ 472 - - 1250 kg/h H11.5.15
38 8l —> - R7 - [FEHT AN AFEEFRNEZ12—-1509 3.8 m 1625 kg/h H9.1.15
39 8o —> - R7 - [FEHT AR ATFERTFRNE12—-—159 3.8 m 1625 kg/h H9.1.15
40 8|10 =2 - R7 - FFEHT NN KFEERFRNE12—159 - - 2500 kg/h H9.1.15
41 I RKEUHALA oIt 2 — R BT K KR SFE20-52 - - 365 kg/h H7. 8. 20
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8|Fith kS vy KX SRS REfNARFLHE46E - - 240 kg/h H5.9. 30
B|ZAMR Y Y-t A — =FET3NF EESREEE23 14.04 m 1875 kg/h H20. 4. 1
B|IZFHhR Y Y-t A — =FRT 3 NF EEREEE23 14.04 m 1875 kg/h H20. 4. 1
8| H P = AN 2% EEBRTE R D hFaIEHH28-87 13.67 m 1875 kg/h H2.12. 20
8|HF C &AM R EREBTE R P hFaTEH28-87 13.67 m 1875 kg/h H2.12. 20




